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16 Daniel invested $2500 for 2 years at 5.5% per year compound interest. 

 

 Calculate how much interest he received. 

 

 

 

 

 

 

 

 

 

 Answer $   [3] 

 

 

 

17 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Write down the letter of the graph which is  

 

 (a) y = x − 2, 

 Answer(a)   [1] 

 

 (b) x = − 2, 

 Answer(b)   [1] 

 

 (c) y = −2x + 4, 

 Answer(c)   [1] 

 

 (d) y = x
2

 − 4. 

 Answer(d)   [1] 
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19  

0

2

6

y

x
  

 The diagram shows a straight line passing through the points (0, 2) and (6, 0). 

 

 Find the equation of this line in the form y = mx + c. 

 

 

 

 

 

 

 

 Answer y =   [3] 

 

 

20  

4 4 5 6 8
  

 (a) The diagram shows 5 discs. 

 One disc is chosen at random. 

 

 (i) Which number is most likely to be chosen? 

 

 Answer(a)(i)   [1] 

 

 (ii) What is the probability that the number on the disc is even? 

 

 Answer(a)(ii)   [1] 

 

 (iii) What is the probability that the number on the disc is even and a factor of 20? 

  
 Answer(a)(iii)   [1] 

 

 (b) A disc is chosen at random from the discs with even numbers. 

 

 What is the probability that the number on the disc is a factor of 20? 

 

 

 

 Answer(b)   [1] 

 

 

Questions 21 and 22 are printed on the next page
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11 Without using your calculator, work out    ⎟

⎠

⎞
⎜

⎝

⎛
+

4

1

3

2

2

1

. 

 Show all your working clearly and give your answer as a fraction. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer   [3] 

 

 

12  
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 The diagram shows the graph of  y = (x  + 1)
2

  for −4 Y x Y 2. 

 

 (a) On the same grid, draw the line y = 3. [1] 

 

 (b) Use your graph to find the solutions of  (x + 1)
2

 = 3. 

 Give each solution correct to 1 decimal place. 

 

 

 Answer(b) x =  or x =   [2] 

 

3
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17  

y

x

6
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3
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1
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–6

0–1–2–3–4–5–6 5 64321

B

A

 

 

 The diagram shows two straight lines, A and B, drawn on a grid. 

 

 (a) Write down the equation of line A. 

 

 

 

 

 Answer(a)   [1] 

 

 

 (b) The equation of line B is   y = 3x – 1 . 
 

 (i) Draw a line parallel to line B that passes through the point (0, 2). [1] 

 

 (ii) Write down the equation of your line in the form   y = mx + c. 

 

 

 

 

 Answer(b)(ii) y =   [2] 
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13 (a)  Complete the following statement.

  The two common factors of 15 and 20 are 1 and  ......................... . [1]

 (b)  Write down the next square number that is greater than 169.

 Answer(b)  ...............................................   [1]

 (c)  Write down a prime number between 90 and 100.

 Answer(c)  ...............................................   [1]

_____________________________________________________________________________________

14  The straight line, L, has the equation   y = 5 – 2x .

  Write down

 (a)  the co-ordinates of the point where the line crosses the y-axis,

Answer(a) (....................... , .......................)  [1]

 (b)  the gradient of the line,

 Answer(b)  ...............................................   [1]

 (c)  the equation of a line parallel to L.

  Give your answer in the form   y = mx + c.

 Answer(c) y =  ...............................................   [1]

_____________________________________________________________________________________

5
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6  (a) Complete the table of values for the function 

x

y

3

= , x ≠ 0. 

 
x −3 −2.5 −2 −1.5 −1 −0.5 −0.3  0.3 0.5 1 1.5 2 2.5 3 

y −1 −1.2  −2 −3 −6     3 2 1.5  1 

     
    [3] 

  (b) On the grid below, draw the graph of 

x

y

3

=   for  −3 Y x Y −0.3 and 0.3 Y x Y  3. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
   [5] 

y

x

10

9

8

7
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5

4

3
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1
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–2
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–9

–10

0–1 1 2 3–2–3
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  (c) Use your graph to solve the equation 

x

3

 = 7. 

 

 

 Answer(c) x =   [1] 

 

  (d) Complete the table of values for  1

3

2

−=

x

y . 

 

x −3 0 3 

y    

    [2] 

 

  (e) On the grid, draw the straight line 1

3

2

−=

x

y    for  −3  Y  x  Y  3.           [2] 

 

  (f) Write down the co-ordinates of the points where the line  1

3

2

−=

x

y   intersects  

  the graph of 

x

y

3

= . 

 

 

 Answer(f) (               ,               ) and (  ,  )  [2] 

 

 

 

7    4S a d= +  

 

 (a) Find S when a = 17 and d =  − 5. 

 

 

 

 Answer(a) S =   [2] 

 

 

 (b) Find d when S = 37 and a = 5. 

 

 

 

 Answer(b) d =   [2] 

 

 

 (c) Make d the subject of the formula 4S a d= + . 

 

 

 

 Answer(c) d =   [2] 
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8 (a) Complete the table for the function 

18

y

x

= , (x ≠ 0). 

 

x −18 −9 −6 −3 −2 −1  1 2 3 6 9 18 

y    −6 −9 −18  18 9 6    

 

    [3] 

 

(b) On the grid below, draw the graph of 18

y

x

=  for −18 Y x Y −1 and 1 Y x Y 18. 

 

  

y

x

20

16

12

8

4

–4

–8

–12

–16

–20

4 8 12 16 20–20 –16 –12 –8 –4 0

 

   [4] 

 

(c) Write down the order of rotational symmetry of the graph. 

 

 Answer(c)   [1] 
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 (d) (i) On the grid, draw the graph of y = x. [1] 

 

(ii) Write down the co-ordinates of the points of intersection of y = x and 

18

y

x

= . 

 

 

 

 

 Answer(d)(ii) (  ,  ) and (  ,  )  [2] 

 

 (e) On the grid, draw the reflection of y = x in the y-axis. [1] 

 

 

 

9 (a) Simplify the following expressions. 

 

(i) 5k + 3p – 2 + p – 2k – 5 

 

 

 

 

 Answer(a)(i)   [2] 

 

(ii) 5y2 – 4x + 5x – 7y2 
 

 

 

 Answer(a)(ii)   [2] 

 

 (b) Expand the following expressions. 

 

(i) 3 ( 4 + 7g ) 

 

 

 Answer(b)(i)   [1] 

 

(ii) 5m ( 5m
2

 – t
2

 ) 

 

 

 Answer(b)(ii)   [2] 
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3 (a) Complete the table of values for     y = 5 + x – x
2

.   

 

x −3 −2 −1 0 1 2 3 

y −7 −1  5  3  

    [3] 

 (b) On the grid below draw the graph of   y = 5 + x – x
2

 for –3 Y x Y 3. 

 

6

5

4

3

2

1

–1

–2

–3

–4

–5

–6

–7

–8

0 1–1–2–3 2 3

y

x

 

    [4] 

 

 (c) Use your graph to solve the equation   5 + x – x
2

 = 2. 

 

 Answer(c) x =  or x =   [2] 
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 (d) (i) Complete the table of values for  y = 2x – 1. 

 

x −3 0 3 

y    

    [2] 

 

  (ii) On the grid, draw the straight line y = 2x – 1   for  –3 Y x Y 3. [2] 

 

  (iii) Write down the gradient of y = 2x – 1. 

 

 Answer(d)(iii)   [1] 

 

 (e) Write down the co-ordinates of the points where the line  y = 2x – 1  intersects the graph of 

y = 5 + x – x
2

. 

 

 Answer(e) (  ,  ) and (  ,  ) [2] 

 

 

4 (a) Solve the equation. 

3(x + 1) + 5(x – 3) = 48 

 

 

 

 

 

 

 

 

 

 Answer(a) x =   [3] 

 

 (b) Make f  the subject of the formula g = 7f − 5.  

 

 

 

 

 

 

 Answer(b) f =   [2] 

 

 (c) Factorise completely 6xy − 10yz. 

 

 

 

 

 

 

 Answer(c)   [2]  


